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3. In the following Fig.3, what is the emitter voltage, Vg and current, I;? (Assume no
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1. Determine the peak output voltage and current in the 3.3kQ load resistor shown in Fig.1 if | |
Vsec = 24V, - Use the practical diode model. = —
F Fig.3

4. Whatis V,,, ifthree input voltages are respectively +5.0V, -3.5V and +4.2V in the Fig. 4?

Assume Ry =R, =Ry =10kQ and Ry =3.3kQ.
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2. What are the saturation current and the cutoff voltage for the circuit shown in the Fig.2? &, v
Assume Vg =0.2V in saturation. T 5 o
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5. The unit-gain bandwidth f for a 741C op-ampl is 1 MHZ. What is the BW,; for the
amplifier in the Fig. 57
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